FR2FE KERKAEGEEFERS

(8% F]

& K% FE | BUE & Figa & <k I (SREa& JE
F)—LEEISIIRE E® BK 1 9.900 2 7.300 1 10.600 2 27.800 1
TORIKIEIST HER 5 1 9.200 4 6.650 2 11.100 1 26.950 2
EORKEIST A #R 1 9.550 3 6.650 2 10.600 2 26.800 3
RR)IEIRS ST RED 5 H 1 10.000 1 5.900 4 9.000 5 24.900 4
ISt Epg thx 1 8.750 5 1.000 5 9.650 4 19.400 5
e 3 T | 05 E__| F8E IE <ok B |E~aa B
TORKESSD 2 R 2 9.800 2 8.850 1 10.700 1 29.350 1
I B R AV E INEFR BRY 2 10.700 1 8.250 2 10.000 2 28.950 2
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FR2OFEE BERAEBEEFEXR

e K& =& | U JIE EHE JIE vk JIE B8 JIE

SEINO.GYM ®EEE 3 10.950 1 10.850 3 10.300 2 32.100 1
TORKIESIST Al E 3 10.500 2 11.150 1 10.250 3 31.900 2
A IE H 37 SRFTOKBIAIRYSD) h ¥ (53 3 9.700 6 10.900 2 10.700 1 31.300 3
T HORKESST FHT R 3 9.900 3 10.650 4 9.650 6 30.200 4
TORKIEIST MK HEL 3 9.650 7 9.650 6 9.800 5 29.100 5
TORKIEIST T 8 3 7.550 10 10.100 5 10.050 4 27.700 6
I B R AT ik ) %:‘éé’i—% 3 9.750 5 8.150 7 9.500 8 27.400 7
FU—LKEISTIRE INI 7R ,hT 3 8.800 9 7.700 8 9.600 7 26.100 8
I B R VHE maf B 3 9.800 4 7.050 10 7.350 9 24.200 9
F—LIKEISTIRE #1338 ifiﬁ 3 8.850 8 7.650 9 7.100 10 23.600 10
[18&F] _ _ _ _ _
FIE K& FE | U B IHE l vk J EoEEH I

SEINO.GYM HEILE = 4 10.850 2 10.950 1 11.250 1 33.050 1
I B 1-T R IRY77 S FEMR 4 10.650 4 9.900 2 10.800 2 31.350 2
Ik B XA E H EE 4 10.800 3 9.300 5 10.000 4 30.100 3
IR B 127 RIEH57 AH 53X 4 9.900 5 9.850 3 10.200 3 29.950 4
SEINO.GYM BA ki 4 11.200 1 8.950 6 9.700 5 29.850 5
ms‘z%iu TIKEI77 KAR K 4 8.950 7 9.550 4 9.350 7 27.850 6
TORKIEIST =58 7TARELVT 4 9.150 6 7.850 7 8.500 8 25.500 7
B —LEIEISTIRE N IIRSE 4 8.800 8 6.150 8 9.400 6 24.350 8
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FR2FE KERKAEGEEFERS

FiE K& FE | U JIE EHE JIE vk B SR85t B
TORKIEISD He {5H& 5 10.000 5 10.600 1 11.200 1 31.800 1
TORKIEIST INEIS 5 10.000 5 10.450 2 11.050 2 31.500 2
I B 22 YT A F1E 5 10.100 4 9.900 5 10.600 10 30.600 3
TORKIEIST LEIL BFIE 5 9.800 9 9.950 4 10.750 7 30.500 4
R E/\IBIAIRYST hig 25 5 9.500 10 10.150 3 10.800 5 30.450 5
TORGKESIST =B EA 5 10.250 3 9.100 7 10.800 5 30.150 6
I BRI VHE PE {HH 5 10.400 1 9.250 6 10.350 13 30.000 7
SEINO.GYM OB 5 10.350 2 8.650 9 10.700 8 29.700 8
TORKIEIST AR RE 5 9.850 7 8.400 10 10.950 3 29.200 9
I B R AN YHE RF B 5 9.850 7 8.050 14 10.650 9 28.550 10
TORKIEISD He £iE 5 9.300 12 8.350 11 10.850 4 28.500 11
TORGKESIST MESEE 5 8.850 15 8.750 8 10.350 13 27.950 12
TORKIESIST JAH FTE 5 8.800 17 7.750 15 10.450 11 27.000 13
L/ \IBKIRYSD WA 5% 5 9.200 13 7.100 16 10.250 15 26.550 14
I BRI E B R 5 9.350 11 8.350 11 8.550 19 26.250 15
TORKIEIST Z2H HA 5 9.000 14 6.000 18 10.250 15 25.250 16
TORKIEIST IH ¥E 5 8.850 15 5.750 19 9.600 18 24.200 17
R E/\IBIAKIRYST RE &% 5 0.000 18 8.300 13 9.800 17 18.100 18
B EJ\IEAERHST BAX EE 5 0.000 18 6.600 17 10.450 11 17.050 19
[18ZF] _ _ _ _ _ _

FiE K& FE | U B IHE B vk B eI t=X A &
TORKIEISD REEL 6 10.900 1 11.600 1 10.750 4 33.250 1
SEINO.GYM *® E 6 10.700 2 11.000 2 10.950 2 32.650 2
TORKIEIST O FE 6 9.900 4 8.800 5 10.850 3 29.550 3
TORGKESIST ZRH 6 10.050 3 9.000 4 9.600 6 28.650 4
TORKIESIST AHEFE 6 9.600 6 9.050 3 9.950 5 28.600 5
TORAEEIZT Eik = 6 9.850 5 6.150 6 11.150 1 27.150 6
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TROEE BERARRHERTIEAS

FiE K£ P BkEE JIE EHE JIE vk JIE SR85t JIE
I B R A Y E KB FEF 1 10.600 1 10.700 1 11.250 2 32.550 1
I BRI VHE TR LY b 1 9.750 2 10.200 2 11.450 1 31.400 2
TORKIEIST EX ETE o1 9.750 2 9.000 3 11.000 3 29.750 3
B/ \iBKiEH50 WA DFE 1 9.550 5 8.100 5 10.700 4 28.350 4
AIE 7 SEFTOKBIAER IS 12H MEEE i1 9.650 4 8.350 4 8.750 6 26.750 5
I B 22"y 20 E= ZEH Bt 1 9.500 6 7.350 6 9.400 5 26.250 6

FiE K4 S BkE JIE IHE JIB vk JIE BREE B
I B RAYHE EE o= 2 | 11.500 1 10.650 1 12.000 1 34.150 1
SEINO.GYM MK EE b2 | 10.350 2 9.800 4 10.300 6 30.450 2
SEINO.GYM Ay ExE 2 9.500 7 9.900 2 10.550 4 29.950 3
FU—LKIEISTIRE INTEZES 2 9.300 8 9.900 2 10.700 3 29.900 4
TORGKESIST R EEF 2 | 10.150 3 8.300 7 11.150 2 29.600 5
FU—LKIEISTIRE M EA 2 | 10.150 3 8.750 5 10.400 5 29.300 6
hEIAIESST It K8 2 | 10.150 3 8.600 6 10.250 7 29.000 7
I B R YEHE =g & 2 9.850 6 6.950 9 10.250 7 27.050 8
BRI KESST ZH t= 2 | 9300 8 7.950 8 8.000 9 25.250 9

A= K£ SR Bk I EHE I vk I BL8: JIE
TOREIESST EXEREES $F3 | 12.250 1 12.050 1 11.000 1 35.300 1
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(288 % F])

g K4 FE | vk JIE Bk FE ]
AL J\IBAIRYST F 5 BAK 1 7.70 2 6.45 3
TORRKIEYST XH 58 1 7.20 3 8.25 1
Iz B2 77 RAR—Y D[] EE FiE 1 8.20 1 6.80 2
Hl=IHAREIST EH Y05 1 6.75 4 6.40 4
TORRKIEYST = BE 2 6.70 6 8.60 3
KIBHITERITOKBIAIEV| BAT BKRAM| 2 8.00 2 9.00 1
B EJ\WBAIRYST BK B 2 7.35 4 8.70 2
B LE\IBAIROZD e =EH 2 6.50 7 8.25 5
Iz B 77 RAR—Y > [ EXK Bx 2 8.10 1 7.00 9
HT=ITRIED ST FA ER 2 7.10 5 7.50 7
HI=ITRIEIST FE BT 2 7.65 3 8.45 4
IR IR# = BH B 2 6.00 8 8.05 6
ImRIRIRHE fEH £5 2 5.65 9 7.20 8
BEIVAIRYST KEF <BHH 3 1.15 15 3.00 15
BEIMARYST HH X 3 3.65 13 455 13
KIBHITIRITOKBIAIRY] £F%F KE 3 6.55 3 7.65 1
I B R A YT AR HK 3 6.10 5 6.45 8
I BB R 2> Y 2 = A BFTE 3 6.30 4 7.60 2
HT=ITRIED ST ILE R 3 4.60 11 5.05 12
B LE\WBARIROSD A0 EE 3 6.90 1 7.30 4
TORKIEYST AR #AH 3 5.80 7 6.70 7
YTORKIEYST FR FE 3 5.45 6.05 11
YTORKIEVZT ik BE 3 5.20 10 7.35 3
Iz B2 T RAR—Y D> FE [ hOgE FNTE 3 6.75 2 6.80 6
Iz B2 v RAR—V D> F [ FEb ZEHt 3 6.10 5 6.25 10
Iz B 77 RAR—Y D> [ FEd 2t 3 4.35 12 7.25 5
EEMAR—YDVEH |EE FERE| 3 5.75 8 6.30 9
ImBIRIRHE WX RE 3 2.80 14 4.50 14
I B R A YT XLt FK 4 6.25 4 8.50 1
Iy B R 2 YT IIE #E 4 5.25 7 7.45 2
AT ST Khp = 4 4.30 9 5.55 9
B EJ\WBAKIRYIST BK BEE 4 5.05 8 6.50 7
B LE\WBAIRYSD FE IB¥ 4 6.50 2 6.65 5
YTORKIEYST BT+ DE 4 6.25 4 6.65 5
TORKIEYZT KB F 4 5.60 6 6.25 8
Ik BB v RAR— /D> [ #HMY B4 4 6.65 1 7.20 3
IEBRRA=F7HIEY>J| LA #A 4 6.50 2 6.70 4
ImBIRIRH=E EnFl £&FH 4 2.35 10 4.20 10
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(288 % F])

g K4 2HE | Ik JIE BEUFE IE
RIEBHITIRITOKBAIRY] K HE 5 7.15 3 8.90 2
KIBHITIRITOKBIKIRY] EFE BE 5 8.40 2 9.55 1
YTORKIEYST AH F1t 5 6.85 5 8.65 5
HI=ITRIEDST Sl DB 5 6.95 4 8.35 7
HI=ITRIEIST hF MBAZE| 5 4.05 8 5.45 8
HT=ITRIEDST BHhE AE| 5 6.65 6 8.80 3
BEAMARYST XBE EHK 5 8.50 1 8.70 4
ImBIR RS E #HE BK 5 6.20 7 8.40 6
ImBIKIRH = ERH =& 6 5.75 5 8.55 4
I BB T RAR—Y > FE [ ok BRER 6 7.90 1 8.75 3
I B2 T RAR—Y > FE [ Il K5 6 6.65 4 8.25 5
I BHRAR—YDER | &L #DOY| 6 7.75 2 9.20 1
I B 71 RAR—Y D> H BEf BF 6 7.10 3 8.85 2
FU—LAFRISTIRE B FF | 91 7.05 1 8.35 1
FIU—LKEISTIRER | KKk D4 | &2 6.65 1 9.00 2
FU—L&KEISTIRE [HE EAE| $2 6.20 2 9.45 1
REREIST AR 565 | &8 7.40 1 8.60 2
RERIEYST J\E& §B&E | $3 7.10 2 8.75 1
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